Lt=10564

1132 3100 2120 3100 1132
s

L b | Lb |
3
g
(=]
v 3
[ P

Lt=10584 @
5202 e 5292
. D=3013 o 180 s
= - L T BERTER @
— 7 : B " IMaV5 - FERER
- ks (BT 25— hTRT)
: RICIEERS SR IR (N/m) 30t 70 (KN/)
30 | 50 [ 100 | 30 50 100
~o~ owgl 188 wme TS52 = Lo arbla-bla-b| a-b a*b a*b
ST 888 838 85> 30 54| 760 | 650 | 570 | 5710 570 570
S
7 7 Z 7 EERVE |
) G O
L D1=2709 N 13 | 3100 | 2120 | 3100 ETRY) @
BIEROBE tRavy - rEEEROGE

TELZ S BHEE I%% W & |®E %% R &[] @z &
4 I /

Bz HEAE K=k LYTR H—F—t

H—R— P —ik— £ A B| ALEE ap
15004 4 7 16/ RiTEfty b ZR 54 -54-30 ) / uep-F-co13 ® HT-A1

b




